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Mastery Mastery with Greater Depth

Set out and solve these calculations using a column method. True or False?
= 3999 - 2999 = 4000 - 3000
32544 [ J=79%9 = 39992999

2a31 [ J-3s6 = 2741-1263
27414 126:

6373-[_]=3581 = 2741-1263

= 2741-1263=2742-1252
6719=[__]-4562
Explain your reasoning.

Using this number statement, 5222 - 3111 = 5223 - 3112 write three more pairs
of equivalent calculations.

Pupils should not calculate the answer to these questions but should look at the
structure and relationships between the numbers.





